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Answer the following questions:

[1] a- A random sample of 100 patients is selected and treated by a new drug for AIDS.

After 8 weeks, 20 of them show signs of improvement. Find a 99 % confidence interval

for the true proportion of all patients treated by this new drug and show improvement

after 8 weeks. (10 Marks)

b- Suppose that in a certain city , the probability that a man has high blood pressure is
0.18 If we randomly select 10 men from this city .

i) Find the probability that exactly 3 men have high blood pressure

ii) Find the expected number of men with high pressure (10 Marks )

[2] a- A Coin is tossed 4 times , let X denotes the number of heads occurs . Find

i) P(X=3) i) E(X) iii) Var(X) (10 Marks )

b- A sample of size 64 is drawn from a population with £ =3.2 and a standard

deviation o =1.6 . Find the Probability that the sample mean will be

i) more than 3.5 ii) less than 2.7 (10 Marks)

c- In a certain population, suppose that the number of deaths per year from cancer has

a Poisson distribution with average 6 Find the probability that in a year there are

i) Exactly 4 deaths ii) Less than or equal two deaths (10 Marks )
[3] The following table shows the age distribution (in years) of 76 patients who
complained of flu. (30 Marks )
Age 5.5-10.5| 10.5—-15.5| 15.5-=20.5 | 20.5—25.5| 25.5—=30.5 | 30.5—35.5
frequency 6 10 20 22 13 5
Find i) The sample Mode ii) The sample median iii) The sample variance

0(15)=0.933 , p(-2.5)=0.0062 , £(0.025,8)= 2306 5 f(g0s,9)= 2262
Zogos =258 5 Zggs=1.96

Lll pgle — by plaasS — aglsns S - s sl - Olsn g slaasS : galp
A8l 3~ dadi il 3 pladlly cldal) qubl as




3 ‘iﬂ\"‘; *2A ac,\ '." B L‘ s ;‘M_f & , :\"\. Y«‘\}‘{s&‘L‘
Mansoura University ’ First Term
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Subject: Chemistry Date: December 31, 2012
Course(s): Chem.336 Physical Organic Chemistry Time Allowed: 2 Hours
Full Mark: 80 Marks
Answer All Questions

Answer the following questions. Write short comment about your answer:

A) Rank the following compounds in order increasing the rate of solvolysis (SN') in aqueous acetone
( slowest —> fastest ).

(CH3),CHCH,CH,Br  b; (CH3),CHCH(Br)CH; c¢; (CH;3),CHCH(Br)CgHs

B) The number of possible dichloronitrobenzene isomers is?
a; 3 b; 4 c; 6 d; 8

C) Which of the following alkyl halides would be most likely to give a rearranged product under SN’

conditions.
/l\/kBr >|\/ >|\
Br
/\l/ | N
Br
(b)

(a) (¢) (d)

D) Which of the following statements pertaining to an SN2 reaction are true?
1. The rate of reaction is independent on the concentration of the nucleophile.
2. The nucleophile attacks carbon on the side of the molecule opposite the group being displaced.
3. The reaction proceeds with simultaneous bond formation and bond rupture.
4. Partial racemization of an optically active substrate results.

(d) All of them.

A) In each of the following isomeric sets, select one should be the top of stability.
Mention the reasons? (10 marks)

@
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H) Auvange the following in ewder of their reactivity towards NaOMe? Explain the suitable
mechanism for one of them?

1- Write the major product(s) of five only from the following reactions. Explam the suitable mechanism
for each one.

a;

Y

: : CH3OH (excess)
b; _ "

Y

HNo2
C; CHzNHz

co,

d; “ Cl,/ FeCly
CHZCH3
€ Acetone
\\\\‘ \ —-—e—-——-—->
H3 E OH

A; Write shortly what you know about two only of the following: (10 marks)

a; Conjugation (mesomeric) and HyperCOJugatlon effects.
b; The effect of substrate structure on both SN! and SN? reactions.
c; Orientation of monosubstituted benzene.

B; Write equations showing how you could prepare two only of the following compounds from
benzene and any necessary organic or inorganic reagents (10 marks)
a; Cyclohexyl benzene.
b, 3-bromo-4-methylacetophenone
¢; 2-bromo-4-nitrobenzoic acid

With our best wishes Prof. Dr. El-Sayed El-Desoky, Dr. Ahmed El-Mekbaty and Dr. Mohamed Monier



- — = SESEe———
0

W O {fﬁ{&; a) )88 “1@”‘4?’ hn"j e < 1‘ .24 \’ %} i‘A" { ¢

Mansoura University SJM\VZMQ.
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Botany Department Sl o
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Final Exammatlon in Botany
First Term: Jan. 2013

Educational Year: Third level Program (Branch): Chemistry-Botany
Subject: Microbial Genetics and Molecular biology Course(s): N313
Time: 2 hrs Date:03 /01 /2013 Full mark: 60  Question mark: 20

Answer the following questions:

Q1: Discuss the following:
1. Different strategies of viral reproduction.( 8 marks )
2. Interrupted mating technique and its using in gene mapping of
bacterial chromosome.( 8 marks )
3. Chemical induced mutagenesis. ( 9 marks )

Q2: A. Answer the following either true or false and correct the false
ones ( 10 marks ):

1. The deamination of a guanine gives uracil which leads
to a transition base substitution.

2. Phage M3 infects E.coli but does not lyse its host cell.

3. Nonsense mutation means that the base substitution
alters a codon for a specific amino acid to give a stop
codon.

4. Replicase enzyme can synthesize RNA from RNA

. The leading strand is synthesized from 5 to ' whereas
the lagging strand is synthesized from 3'to 5"
6. A lysogenic bacterial cell is that containing ¥ plasmid
integrated into its chromosome.
7. Not all bacteriophages are <capable of inducing
transduction.
8. Frame shift is a phenomenon in which the nitrogenous
bases of DNA could exist in an alternative forms.
9. UV induces mutations as a result of pyrimidine dimer
formation.
10.Biochemical mutations are those in which the
expression of the mutation depends on the environment.
B. Define and state the function of each of the following:
Enhancers, Promoter, Operator, Diausic growth curve of
bacteria, age-regulated genes.

(9}

Q3: Attenuation is a type of regulation that depends on the fact that
in prokaryotes transcription and translation are linked processes.
Explain the statement to show the real meaning of attenuation, how it
works, give an example and use drawings to illustrate your answer.

Examiners: Prof. Yehia Ellazeik Dr. Linda Samaan
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Answer All Questions

1- a) Give acceptable name of each of these heterocycles: [8 Marks]
N (H;C),HC
) ()\Jl K ii) o h i) T\f/\(s[ vy [ ||
N 8
H
b) Diagram these conversions: [18 Marks]
A
i) v i |
NH, N
CH,
- 7 CH,CN
o (1] - (1T
N > N
H H
i [ -1, I
~o~ \O/\(l:__ﬁj \O
OH O
2- Complete these reactions: [27 Marks]|
) N
i) ' + NaNH, B e
Pz
N
ii) H,C=C—CHO + NH,NH, P e
H
ii) CH3;COCH=CHCH; + NH,0H R —
K,CO4
vy | | 4+ cH,0 B oo ovssesegssma coves R s
\N/
H
vy ol R N R ——
07 COCH,;

P.T. O.



0
vi [ ] + “ :>o R re———
0
0

[12 Marks]

CH; Me;CO H
Vll) P iesresscenees B ceiieereenenees
~COCH;
N
H
NaOH
vii) ||+ CHCl, B R gt
N
H
CH,—CH, HCOOEt P,05
ix) [ I P eveaeewressaes B csunranesheess
HS NH,
3- a) Design one synthesis of each of the molecules below:
CHj,4
N EtOOC H5C CH;
N i) - i) [
H;C™ "N~ “CH, H,C E CHj -
b) Diagram the following:
CH,0OH
oo N
i) CHOH - |
I >
CH,0OH N
\ —_—
i) | -
= —
N

-

if) IOU

Best Wishes and Good luck,

Examiners: Prof. Or. Ez Kandil, Prof. Or. Evelin Boshra,

A.Prof. Dr. Eman Keshk
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Botany and Zoology Programs
[ANSWER THE FOLLOWING QUESTIONS|

1) a- Complete the following sentences: 15 Marks

i- d-Block elements are often called ------ because their position in the periodic
tables in between the s-block and p-block elements.

ii- The covalent radii of the elements ------ from left to right across a row in the
transition series, until near the end when the size ------ slightly.

iii- The melting and ------ points of the transition elements are generally ------ .

iv- The color of a transition metal complex is dependent on ------

Vo mmeee- arises as a result of unpaired electron spins in the atom.

vi- The permanganate [MnQy] is a strong ------ agent.

vii- The coordination number ------ is the most common in the transition metals
complexes giving an ------ structure.

viii- The coordination number ------ 1s much less common in the transition metals
complexes giving ------ structure.

iX- ------ is the fourth most abundant element by weight, Ti the ------ and Mn the
twelfth.

x- The second and ------ row elements are much ------ abundant than the first row.

b- Chose the correct answer: 5 Marks
i- Oxyanion VO, is ------ (tetrahedral or octahedral)

ii- The molar conductivity of [CoCI(NH;);]Cl, is ------
(electrolyte or nonelectrolyte)

iii- Square planar [Ni(CN),]’" complex ion has ------ magnetic moment.
(paramagnetic or diamagnetic)
vi- The linear [Cl-Au-SCN] complex ion has ------ isomerism.

(geometric, linkage, coordination)

v- The [Co(NH;),(H,0),]** complex ion has ------ geometrical shape.
(octahedral, tetrahedral, square planar)

vi- The [Co(NH;)sNO,]Cl, complex has ------ isomerism.
(linkage, Coordination, Geometric)

c- Give only one method of the extraction of Vanadium metal from its ores. (5 Marks

2) a- Name the following complexes and indicate the possible isomers:
i- [Ti(H,0)sCI1]Cl, 15 Marks
ii- [Clz(NH3)zMn-(OH)z-MIl(NHg,)zClz]
iii- [CO(NH3)5] [CT(C204)3]
iv- [Nl(PPh:;)zClz]
v- [Mn(CN)¢]*"
vi- [CoCly(en),]"




b- Write the structural formula of the following compounds: (10 Marks)
i- Dichlorobis(triphenylphosphine)nickel(II).
ii- Tris(ethylenediamine)chromium(II) bromide 4-water
iii- Sodium tetraoxochromate(VI). o
iv- Tetramineplatinium(II) tetrachloroplatenate(II).
v- Pentaminenitritonickel(II) ion.

3) a- Complete the following reactions: 10 Marks
i- MnO, + HCIl — ...... e ues
ii- FeCrs0, + C electric furance i S b me ik
iii- Sc + NaOH — ...... ¥ winas
iv-2V_Cly — ...... g (TR
v- Ti + Conc. HCl — ......
b- Give one example of the followin"‘g ligands: (10 Marks)

i- Binegative bidentate ligand.
ii- Neutral bridging ligand.
iii- Neutral bidentate ligand form five membered ring.
vi- Tridentate ligands.
v- Ambidentate ligands.

c- True and false (circulate the correct response): (10 Marks)

i- T-F Vitamin By, contains Co(II) complex.
ii- T—-F Mnis prepared by electrolysis in aqueous solution.

iii- T'—F Van Arkel method used Mg for preparation of metals.

iv- T-F TiO, is amphoteric.

v- T —F Ferustsslowly in air in presence of humidity to Fe,Os.

vi- T—F Four series of transition elements arc formed by filling the 3d, 4d and 5d
shells of electron.

vii- T'— F Ni is much more reactive than Pd.

viii- '= F Mn(1V) is more basic than Mn(V1l).

ix- T—-F V,0sisamphoteric oxide.

x- T —F Tiissmaller in size than V.

xi- T—F Hemoglobin contains Fe({i")

Best Wishes

Prof. Magdy Bekheit
Prof. Nagwa Nawar
Dr. Ahmed Lutfi
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